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QUESTION 1

What is a valid logging command to print log statements to the client-side browser?
A. print.log("\info")

B. debug.log("info\\'\\')

C. client.log(C\Vinfon\'\\")

D. console.log("\Vinfo™)

Correct Answer: D

QUESTION 2

The IBM embedded document store should be considered based on which business requirement?
A. Document is not accessed during the process

B. Coaches should be able to display the documents

C. Lifecycle of the document needs to be tied to the process

D. Documents need to be retained long after the process instances are deleted

Correct Answer: C

QUESTION 3

Which statement is true regarding having different error handling for different errors?
A. A finally block within a try/catch block can be used.

B. Only a single boundary events can be defined on one activity.

C. Multiple error boundary events can be defined on one activity.

D. A Decision activity type can be attached to handle different errors.

Correct Answer: D

QUESTION 4

What is the definition of the “\Vitem\\'\\' type shown in the diagram below?
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A. It must be completed by process participants

B. It uses JavaScript to access and manipulate data

C. It must be completed by an automated system or service

D. It uses JavaScript APIs to evaluate a condition in a business rule

Correct Answer: D

QUESTION 5

A process includes an implementation that requires the port number for an external application. Which variable should
be used to set the port number for each environment in which the process will run?

A. Global Variable

B. Environment Variable

C. Exposed Process Value
D. Exposed Process Variable

Correct Answer: B
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